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Explain the scope of management accounting How are
banks and non-profit organisations benefited by
management accounting ? 15
TS I I GEET B e Fi T ik
- S 1 T4y FEE A f5Y yER B

oW R ?

‘or
. (g

@ Discuss the status and functions of management

accountant &

() Explain the following costs for managerial decision

making 7

LS

() Product and perrod cost

¥

(@) Controllable and uncontrollable cost

(%) viu demr Wil AR v w
IR '

(&) vaus frorm & fou Frafafen amd < s
Hifag .
@ aR R Iafy @
@ Frooia ok afrisels @)

' . .
Download ?ntrance exam question paper, model and previous year question bank

ry

Ly

"


http://www.howtoexam.com

http://www.howtoexam.com
A

( 3 ) 6456

2 What is Activity-based Costing Compare the advantages
and disadvantages of activity-based costing with traditional

costing 15
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Distinguish between budget{ng and standard costing
Discuss the functions of budgeting 15
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. ) 8. Evaluate advantages and disadvantages of vanable costing

over absorption costing ’ 16
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Modi Zerox Co manufactures toner used 1in photocopy
machines The company's product 1s sold by the jug at
Re 50 per umit The company uses an actual costing
system, which means that the actual cost of direct
maternals, direct labour and manufacturing overhead are
entered into work-in-process inventory. The actual
application rate for manufacturing overhead 1s computed
each year, actual manufacturing overhead 1s divided by
actual preduction (in units) to compute the application

rate Information for first two years of operation 1s as

follows :
Year 1 Year 2
' ®Rs) Rs)

Sales umts 2,500 2,500
Production umts - 3,000 2,000
Production costs -
Variable manufacturing

costs 21,000 14,000

Fixed manufacturing costs 42,000 42,000
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Selling and Admunistrative

Costs
Variable 25,000 25,000
Fixed 20,000 20,000
Required

()  Prepare income statements for both years based on

absorption costing and variable costing

) Prepare a reconahation of differences 1n ncome
reported under the two costing methods 15
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4 The operating results of a company for the year 2009

are as follows .

Sales Mix P/V Ratio
(%) (-%)
. A | © 40 20
B 10 6
' [
f c ' 30 12
D 20 . 10

Total sales value of all the products are Rs. 80 lakhs.
Total fixed overheads amounted to Rs. 10 lakhs The raw

material content of each of the products represented 50%

o~ of the respective vanable costs. The forecasts for the year
\ 2010 18 as under
' @  The raw matenal costs will go up by 10%

() The company has been able to cbtain an
import quota” of raw materials of the value of

Rs 35 lakhs
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() The maximum sale potentiality of any of the
) above four products 1s 40% of the 2009 sales
value
(zzv) The company expects to secure an increase of 5%
in the selling prices of all the products uniformly
Required -
@) Prepare a statement showing the proﬁtabllllty
of 2009
dD Set a preduct mix to maximise profits 1n
2010.
(I} Prepare a statement shov«:mg the profitability

of 2010. 15
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In a chemical plant four different products viz, AB, BC.CD
and DD emerge from the input of erude ol Product AB
can he sold immediately, but the remaining three products
requure further processing before they can be marketed

In a month, 40,000 htres of crude o1l were procured at
a cost of Rs 30 per hitre and processed at a cost of

Rs 3 lakhs The details of output obtained, further

processmg costs, selling price per umt etc are given

below
Product Output Further Processing  Selling Price
] Cost (Rs) at ;:he point
of sale
AB 8,000 ke — Rs 45 per kg
BC 10,000 kg 80,000 Rs 60 per ke
cD 12,000 kg 1,20,000 Rs 70 per kg
DD 5000 ltres 60,000 Ra 80 per ltre

. . 4
Download Entrance exam question paper, model and previous year question bank


http://www.howtoexam.com

http://www.howtoexam.com

Prepare

() Statement showing apportionment of joint cost
on swtable basis and productwise profitablity

statement

@) If the company finds a market for CD at Rs 63
per kg without further processing, will it be advisable

N to accept 1t ? 156
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5 Karan, a rietaﬂer provides the following data for 2007 and
2008 -
December December
2007 2008

) (Rs) (Rs)
Cash 2,00,000 —
Trade account receivable 84,000 78,000
Merchandise mventory 1,50,000 1,40,000
Accounts Payable (95,000) (98,000)
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Budgeted sales for 2008 are Rs 12,00,000, sales for 2007
were Rs 11,00,000 Cash sales average 20% of total sale;s
each year Cost of goods sold for 2008 1s estimated to
be Rs 8,40,000 Budgeted 2008 vanable operating expenses
are Rs 1,20,000. They vary in proportion to sales pad
~ 50% mn the year mcurred and 50% the following year
Ux}pald variable expenses are not included 1n accounts

payable above

Fixed operating expenses, including Rs 35,000 depreciation
and Rs 5,000 uncollectible accounts expense total
Rs 1,00,000 per year. Such expenses mmvolving cash
payments are paid 80% in the year incurred and 20 percent
the following year. Unpaid fixed expenses are not included

in accounts payable above

-"' Prepare a cash budget for 2008 with supporting
computations on cash collection from credat sales and cash
disbursements for purchases of merchandise and operating

expenses 15
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A cost accountant of a company was given the following

immformation regarding the overheads for March 2010

@
®)
(@
(@)
@

Overheads cost vanance Rs 1,400 adverse
{Overheads volume rariance Rs 1,000 adverse
Budgeted hours for March 2010, 1200 hours.
Budgeted overheads for March 2010, Rs 6,000

Actual rate of recovery of overheads Rs 8 per

hour

You are requared to assist him in computing the following
for March, 2010

@
w)

Overheads expenditure varance.

Actual hours for actual production

0

(i) Overheads capacity variance

PTO
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{1ty Overheads efficiency variance
(v  Actual overheads mcurred

(u1) Standard hours for actual production 15
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